a=-1,b=29%L ", -3a+6b-3(b+2a) & AAIstolz},
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—-3a + 6b - 3(b + 2a)
= -3a+ 6b—3b—6a =—-9a+ 3b
HAS oA -9x (-1)+3x2=9+6=15
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a=3 ., b=—5 A, th& Aol e Fafolah

a-1[3a—{a—2b-(7a—4b)}]

>
> met: 5

oHd =

B

(£4) =a-{3a-(a-2b-"Ta+4b)}
=a—(3a+ 6a—2b)
= —8a+2b
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= =— = H
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F(EM) = Bat2b=—4-1=-5

a =




3.

A=3a-2b,B=2a-5b AW, -3A-BSa%bo] Bt AO=
Lretiof 2t

> E:

> M —lla+ 11b

-3A-B = _3(3a _ Zb) _ (20 _ 5b)
= —9a + 6b — 2a + 5b
=—1la+ 116




4. y=2-3x 4, 2x-3y+5E x o T A o= epfjolet,
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2x-3(2-3x) +5=2x-6+9x+5=11x-1
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> HMEH x=1.25y

5:x=6:(2x—-y),
6x = 5(2x — y)6x,

6x = 10x — 5y,
4x = by

5
LX=-y
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2(x—y—-1)=3x+3y
-by=x+2

L mx=2
SY="%




7. b5x—2y=-4x+y-3 4 W, 5x-2y+5 5 x o T3 A2 e
o,

5x—2y=-4x+y-3 = HP5HH

y=9x+3, y=3x+1

5x—2y+5=5x-28x+1)+5
=Hx—6x—-245
=-x+3




(x=2y) : (2x+y)=2:3¢ o, MQ] h2?
xX=y
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(x=2y) : 2x+y)=2:32EH

3(x—2y) =2(2x+y), 3x — 6y = 4x + 2y

—x =8y

x=-8yo|B=Z

o121 o] <la

3X(=8y)+6y —18y
-8y-y -9y
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9. (2r+y):(x-2)=3:1% 1, 2—fju zhe Fotolat,
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2x 4y =3(x—2y), x = Ty°| B2 FoiZl Aof| tjistH
2x+4y _ 2(7y) +4y _ 18y

X=y Ty—y 6y
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